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LO: | can explain how the phases of the

Moon occur.
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Moon
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28 d:h},rs

The Moon

---------

orbit takes 28 days



Why do we always see the same side of the Moon?

At 2 the Moon has
moved a quarter of the
way round the orbit. It
has also turned a
quarter of a spinand -
so the same side is

still facing the Earth.-

At 3 the Moon has mo‘;ré.d

half way round the orbit. It - .

has also turned half a
spin. The same side is
still facing the Earth. T

You need to try this
out with models to
see how it happens.

At 4 the Moon is 3/4 of
the way-round the orbit.
It has now turned 3/4 of
a spin. So the same
side is still facing the
_.Earth,

T Light from
the Sun




The Moon

- The Moon is a satellite.
- We see it because it reflects light from the Sun.
- It orbits around the Earth every 28 days.

- It also spins on its own axis.

- One spin takes 28 days.

- Because it spins at the same speed as it orbits we
always see the same side of the Moon facing the Earth.

- We see different amounts of the Moon "lit up" as it
orbits the Earth, these are called "Phases of the Moon".
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For each position of the Moon shade the side that will be lit up by the Sun.
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Decide how the moon will lock from
the Earth and match up each one.
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